
i fl i lft r iI

Req. No.

K19U 0270

IlSemester B.Sc. Degree (CBCSS - BegJSupple./lmprov.)
Examination, April 2019

(2014 Admission Onwards)
COI\4PI-EMENTARY COURSE IN MATHEMATICS

2C02 IMAT"BCA : Mathematics for BCAII

degrees 3, 3 3. 1.

SECTION A

Allthe lirst 4 questons are compursory. They carry 1

I G ve example ol a ower lriangu a r malr x lhal s nol

. Drdw he ordon {rLn -.1r" "" ,.' " 
: : :
,t0
0 0 0l

3. Prcve or d sprove There exisis a graph wilh vedex

4. Wlral ls a cubic graph ?

SECTION _ B

Answer 6ny 7 quesions lrorn arnonq the queslions 5 io 13. These
queslons carry 2 marks each

5. Obtain lhe lnlr nsic equalion olthe cal€nary y = a cosh(xia), iaking the
vedex (0 a) as lhe Uxed poinl

6 F nd the per melerol lhe cardode r = a(l cos0)

7. Solve the lo owing system or ind cate the nonexist€nce of so!!tons
2x+y 3z=a
5r.+22-3
8x-y+72=0
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I s lhe sel ol veclos [1 1,0] t],0,0land 11,l, ll linearly independent
Justfy.

9

lor lhe row sprce and lor lhe co Lrmn space

t0

11

2. Does lhere exisl agraplr wllr iouredgesand iourvertces which have
degrees I 2 3. 4 ? ll yes dmv/ such a graph, olhetuise slaie why ?

13 Prove lhal no sr.pe graph wlh two or lhree vedices is sel-

SECTON -C
queslions lrom among the questions 14 to 19. These

xy(x + y)dxdy over ihe area belwe€n v - x2 and y = x.

15.

G ve exarnpes ol (i)odhogonaland (li) skew'symmetic

I r 3 i rl
Consler me matnr ,q = 

J :
r0 r0 -r0 r4

lo " 4 s]
tone eigenvector is v = [1 100] .find ls eigenva ue ],.

Let A be an dempolenl matrx, inean ng A'?= A. Show
i. = I are the on y possible eiqenva ues ol A.

o74

1a Evaluare lJ

?
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theorem roJlnd the inverse ofthe makix
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18. Detemine the eigenvalues and eigenv€c1ors ol

19. Let a simple gmph with n verl ces and m

ihen G is connected.

CayLey-Hamilon

l1 2 1

Lo , ,
l, , -,1

tt ll
Show lhal liGbe

[r']
SECTION - D

Answer any 2 queslions from among the questions 20 lo 23 These

quesUons carry 5 marks each

20 Find the area cornmon to lhe c rcle r = a"E and r = 2a cose

21. Sove by clamels rule :

w + 2x- 32= 30

4x-5y+22=13
2w+Ax-4y+z=42
3w+y-52=35

22. g malr ^, 
ilpossibLe.

graph rnust have 4l or4k + 1 vedices

Diagonalize ihe iollowin

f, , -,.l

]- ,-,.1
Show that a seLl-comPle


